

**HLS Yorkton Presort Sale - February 18, 2026.**

Wednesday, February 18, 2026 -- 10:00 AM

Pre-Sort

This is a live broadcast of a presort sale out of HLS Yorkton, SK. For more information please contact Jeannie at (780)554-4939.

**NOTES...**

<b>Seq#</b>	<b>Lot#</b>	<b>Pen#</b>	<b>Head#</b>	<b>Sex</b>	<b>Breed</b>	<b>Avg. Wt.</b>	<b>Total Wt.</b>	<b>Consignor</b>
1	1	E21Z	18	STRS	EXOTIC BULL	650	11702	
2	2	E32Y	3	STRS	EXOTIC X	434	1302	
3	3	143X	1	STRS	LONGHORN	493	493	
4	6	W66Y	5	HFRS	EXOTIC X	409	2046	
5	7	W63R	2	HFRS	RED ANGUS	444	889	
6	9	E15P	1	HFRS	YEARLING	823	823	
7	10	E18B	2	STRS	BLACK	809	1618	
8	11	E25B	8	STRS	BLACK	704	5631	
9	12	E23B	7	STRS	BLACK	641	4486	
10	13	E14B	7	STRS	BLACK	556	3895	
11	14	E16B	6	STRS	BLACK	477	2864	
12	15	E16A	1	STRS	BRITISH BULL	868	868	
13	16	E36J	1	STRS	BRITISH	825	825	
14	17	143A	2	STRS	BRITISH BULL	760	1521	
15	18	137J	2	STRS	BRITISH	736	1473	
16	19	135A	4	STRS	BRITISH BULL	655	2619	
17	20	E24Z	5	STRS	BRITISH BULL	552	2759	
18	21	E27J	1	STRS	BRITISH	540	540	
19	22	139Z	10	STRS	BRITISH BULL	468	4676	
20	23	206B	5	STRS	BRITISH BULL	388	1940	
21	24	E36T	9	STRS	BUCKSKIN	936	8422	
22	25	E32T	13	STRS	BUCKSKIN	864	11234	
23	26	E20T	7	STRS	BUCKSKIN	802	5616	
24	27	E23T	5	STRS	BUCKSKIN	666	3331	
25	28	E11C	1	STRS	CHAR	896	896	
26	29	E30C	5	STRS	CHAR	781	3905	
27	30	E25C	5	STRS	CHAR	635	3175	
28	31	E17C	3	STRS	CHAR	560	1681	
29	32	E34C	2	STRS	CHAR	484	969	
30	33	135C	1	STRS	CHAR	417	417	
31	34	206U	1	STRS	CROSS BRED	942	942	
32	35	207U	11	STRS	CROSS BRED	715	7866	
33	36	E15U	12	STRS	CROSS BRED	583	6995	
34	37	E21A	3	STRS	EXOTIC BULLS	940	2821	

35	38	E28Y	1	STRS	EXOTIC	900	900	
36	39	E19B	2	STRS	EXOTIC BULLS	822	1643	
37	40	E27Y	3	STRS	EXOTIC	785	2354	
38	41	205Z	27	STRS	EXOTIC BULL	742	20033	
39	42	E13Y	10	STRS	EXOTIC	639	6394	
40	43	208X	4	STRS	EXOTIC	591	2363	
41	44	E19Y	17	STRS	EXOTIC	561	9542	
42	45	E38Z	17	STRS	EXOTIC BULL	562	9556	
43	46	207C	3	STRS	EXOTIC	473	1419	
44	47	205L	7	STRS	EXOTIC BULL	462	3232	
45	48	E20H	1	STRS	HEREFORD	972	972	
46	49	E22H	1	STRS	HEREFORD	805	805	
47	50	143L	1	STRS	LATE CUT	759	759	
48	51	200L	2	STRS	LITTLE	296	592	
49	52	143O	1	STRS	LONGHORN	526	526	
50	53	E31M	4	STRS	MAINE-ANGOU	831	3323	
51	54	E26M	6	STRS	MAINE-AUOJU	694	4161	
52	55	E11R	5	STRS	RED ANGUS	627	3133	
53	56	E17R	10	STRS	RED ANGUS	562	5620	
54	57	E36R	4	STRS	RED ANGUS	487	1949	
55	58	E15X	4	STRS	RED/BLK EXOTIC	1075	4300	
56	59	E38X	10	STRS	RED/BLK EXOTIC	951	9509	
57	60	E34X	7	STRS	RED/BLK EXOTIC	865	6055	
58	61	E29X	3	STRS	RED/BLK EXOTIC	802	2406	
59	62	E30X	4	STRS	RED/BLK EXOTIC	701	2805	
60	63	E12X	6	STRS	RED/BLK EXOTIC	649	3896	
61	64	E28X	5	STRS	RED/BLK EXOTIC	548	2739	
62	65	E26X	2	STRS	RED/BLK EXOTIC	502	1003	
63	74	E36S	1	STRS	SPECKLE PARK	645	645	
64	75	E17S	1	STRS	SPECKLE PARK	589	589	
65	76	E20S	1	STRS	SPECKLE PARK	361	361	
66	77	404R	1	STRS	YEARLING	1218	1218	
67	78	304Y	1	STRS	YEARLING	1144	1144	
68	79	W60Z	1	STRS	YEARLING	1121	1121	
69	80	203B	3	STRS	YEARLING BULLS	1013	3039	
70	81	202S	9	STRS	YEARLING BULLS	1242	11174	
71	82	508C	1	STRS	YEARLING	962	962	
72	83	506F	1	STRS	YEARLING	899	899	
73	84	133J	3	STRS	YEARLING	768	2303	
74	85	507B	6	HFRS	BLACK	779	4674	
75	86	505B	18	HFRS	BLACK	713	12831	
76	87	503B	13	HFRS	BLACK	646	8398	
77	88	501B	6	HFRS	BLACK	561	3366	
78	89	509B	6	HFRS	BLACK	484	2904	

79	90	W53B	1	HFRS	BLACK	389	389
80	91	500B	7	HFRS	BLKS/RDS	878	6146
81	92	W71B	1	HFRS	BRITISH	717	717
82	93	W67B	1	HFRS	BRITISH	756	756
83	94	W59J	3	HFRS	BRITISH	761	2284
84	95	W67	3	HFRS	BUCKSKIN	931	2794
85	96	302T	7	HFRS	BUCKSKIN	858	6003
86	97	300T	7	HFRS	BUCKSKIN	792	5542
87	98	W57T	9	HFRS	BUCKSKIN	712	6407
88	99	507T	4	HFRS	BUCKSKIN	662	2646
89	100	W55T	5	HFRS	BUCKSKIN	554	2770
90	101	W53W	5	HFRS	BUCKSKIN	495	2474
91	102	W68C	3	HFRS	CHAR	745	2236
92	103	301C	7	HFRS	CHAR	696	4870
93	104	403C	4	HFRS	CHAR	642	2567
94	105	504C	8	HFRS	CHAR	562	4494
95	106	500C	3	HFRS	CHAR	503	1509
96	107	W67C	2	HFRS	CHAR	432	864
97	108	404U	4	HFRS	CROSS BRED	776	3106
98	109	400U	3	HFRS	CROSS BRED	653	1960
99	110	409Y	13	HFRS	EXOTIC X	785	10201
100	111	405Y	15	HFRS	EXOTIC X	702	10534
101	112	406Y	22	HFRS	EXOTIC X	638	14028
102	113	W70E	2	HFRS	EXOTIC	623	1246
103	114	402Y	22	HFRS	EXOTIC X	572	12579
104	115	407Y	12	HFRS	EXOTIC X	489	5873
105	116	502E	4	HFRS	EXOTIC	479	1917
106	117	403H	5	HFRS	HEREFORD	826	4128
107	118	W68H	4	HFRS	HEREFORD	634	2538
108	119	W51H	12	HFRS	HEREFORD	517	6205
109	120	W72H	5	HFRS	HEREFORD	426	2131
110	121	W59H	4	HFRS	HEREFORD	298	1192
111	122	W72L	1	HFRS	LITTLE	246	246
112	123	W58P	1	HFRS	PEE WEE	333	333
113	124	W69R	6	HFRS	RED ANGUS	804	4823
114	125	W61R	9	HFRS	RED ANGUS	635	5714
115	126	301R	14	HFRS	RED ANGUS	562	7873
116	127	W64R	4	HFRS	RED ANGUS	488	1951
117	128	W65X	2	HFRS	RED/BLK EXOTIC	992	1983
118	129	307X	5	HFRS	RED/BLK EXOTIC	776	3882
119	130	306X	12	HFRS	RED/BLK EXOTIC	708	8496
120	131	304X	7	HFRS	RED/BLK EXOTIC	646	4522
121	132	302X	5	HFRS	RED/BLK EXOTIC	558	2792

122	140	W72S	1	HFRS	SPECKLE PARK	681	681	
123	141	E14E	2	HFRS	YEARLING	1490	2979	
124	142	E32E	1	HFRS	YEARLING	1289	1289	
125	143	E13E	3	HFRS	YEARLING	1047	3140	
126	144	E18T	4	HFRS	YEARLING	1052	4208	
127	145	E28Z	2	HFRS	YEARLING	978	1956	
128	146	207W	1	HFRS	YEARLING	893	893	
129	147	E29L	1	HFRS	YEARLING	890	890	
130	148	E31K	1	HFRS	YEARLING	672	672	

**Total Head: 697**

**Lot Detail Information**

Sequence #:	<b>1</b>	Lot #:	<b>1</b>
Pen #:	<b>E21Z</b>	Consignor:	
Head:	<b>18</b>	Average Weight:	<b>650</b>
Color:		Total Weight:	<b>11702</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

Sequence #:	<b>2</b>	Lot #:	<b>2</b>
Pen #:	<b>E32Y</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>434</b>
Color:		Total Weight:	<b>1302</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

Sequence #:	<b>3</b>	Lot #:	<b>3</b>
Pen #:	<b>143X</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>493</b>
Color:		Total Weight:	<b>493</b>
Sex:	<b>STRS</b>	Breed:	<b>LONGHORN</b>

**Lot Detail Information**

Sequence #:	<b>4</b>	Lot #:	<b>6</b>
Pen #:	<b>W66Y</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>409</b>
Color:		Total Weight:	<b>2046</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

Sequence #:	<b>5</b>	Lot #:	<b>7</b>
Pen #:	<b>W63R</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>444</b>
Color:		Total Weight:	<b>889</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

Sequence #:	<b>6</b>	Lot #:	<b>9</b>
Pen #:	<b>E15P</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>823</b>
Color:		Total Weight:	<b>823</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

Sequence #:	<b>7</b>	Lot #:	<b>10</b>
Pen #:	<b>E18B</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>809</b>
Color:		Total Weight:	<b>1618</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

Sequence #:	<b>8</b>	Lot #:	<b>11</b>
-------------	----------	--------	-----------

Pen #:	<b>E25B</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>704</b>
Color:		Total Weight:	<b>5631</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>9</b>	Lot #:	<b>12</b>
Pen #:	<b>E23B</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>641</b>
Color:		Total Weight:	<b>4486</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>10</b>	Lot #:	<b>13</b>
Pen #:	<b>E14B</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>556</b>
Color:		Total Weight:	<b>3895</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>11</b>	Lot #:	<b>14</b>
Pen #:	<b>E16B</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>477</b>
Color:		Total Weight:	<b>2864</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>12</b>	Lot #:	<b>15</b>
Pen #:	<b>E16A</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>868</b>
Color:		Total Weight:	<b>868</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>13</b>	Lot #:	<b>16</b>
Pen #:	<b>E36J</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>825</b>
Color:		Total Weight:	<b>825</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>14</b>	Lot #:	<b>17</b>
Pen #:	<b>143A</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>760</b>
Color:		Total Weight:	<b>1521</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>15</b>	Lot #:	<b>18</b>
Pen #:	<b>137J</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>736</b>
Color:		Total Weight:	<b>1473</b>

Sex: **STRS** Breed: **BRITISH**

**Lot Detail Information**

Sequence #:	<b>16</b>	Lot #:	<b>19</b>
Pen #:	<b>135A</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>655</b>
Color:		Total Weight:	<b>2619</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

Sequence #:	<b>17</b>	Lot #:	<b>20</b>
Pen #:	<b>E24Z</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>552</b>
Color:		Total Weight:	<b>2759</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

Sequence #:	<b>18</b>	Lot #:	<b>21</b>
Pen #:	<b>E27J</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>540</b>
Color:		Total Weight:	<b>540</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

Sequence #:	<b>19</b>	Lot #:	<b>22</b>
Pen #:	<b>139Z</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>468</b>
Color:		Total Weight:	<b>4676</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

Sequence #:	<b>20</b>	Lot #:	<b>23</b>
Pen #:	<b>206B</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>388</b>
Color:		Total Weight:	<b>1940</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

Sequence #:	<b>21</b>	Lot #:	<b>24</b>
Pen #:	<b>E36T</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>936</b>
Color:		Total Weight:	<b>8422</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>22</b>	Lot #:	<b>25</b>
Pen #:	<b>E32T</b>	Consignor:	
Head:	<b>13</b>	Average Weight:	<b>864</b>
Color:		Total Weight:	<b>11234</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>23</b>	Lot #:	<b>26</b>
Pen #:	<b>E20T</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>802</b>
Color:		Total Weight:	<b>5616</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>24</b>	Lot #:	<b>27</b>
Pen #:	<b>E23T</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>666</b>
Color:		Total Weight:	<b>3331</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>25</b>	Lot #:	<b>28</b>
Pen #:	<b>E11C</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>896</b>
Color:		Total Weight:	<b>896</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>26</b>	Lot #:	<b>29</b>
Pen #:	<b>E30C</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>781</b>
Color:		Total Weight:	<b>3905</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>27</b>	Lot #:	<b>30</b>
Pen #:	<b>E25C</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>635</b>
Color:		Total Weight:	<b>3175</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>28</b>	Lot #:	<b>31</b>
Pen #:	<b>E17C</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>560</b>
Color:		Total Weight:	<b>1681</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>29</b>	Lot #:	<b>32</b>
Pen #:	<b>E34C</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>484</b>
Color:		Total Weight:	<b>969</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>30</b>	Lot #:	<b>33</b>
Pen #:	<b>135C</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>417</b>

Color:		Total Weight:	<b>417</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>31</b>	Lot #:	<b>34</b>
Pen #:	<b>206U</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>942</b>
Color:		Total Weight:	<b>942</b>
Sex:	<b>STRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>32</b>	Lot #:	<b>35</b>
Pen #:	<b>207U</b>	Consignor:	
Head:	<b>11</b>	Average Weight:	<b>715</b>
Color:		Total Weight:	<b>7866</b>
Sex:	<b>STRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>33</b>	Lot #:	<b>36</b>
Pen #:	<b>E15U</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>583</b>
Color:		Total Weight:	<b>6995</b>
Sex:	<b>STRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>34</b>	Lot #:	<b>37</b>
Pen #:	<b>E21A</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>940</b>
Color:		Total Weight:	<b>2821</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULLS</b>

**Lot Detail Information**

---

Sequence #:	<b>35</b>	Lot #:	<b>38</b>
Pen #:	<b>E28Y</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>900</b>
Color:		Total Weight:	<b>900</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>36</b>	Lot #:	<b>39</b>
Pen #:	<b>E19B</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>822</b>
Color:		Total Weight:	<b>1643</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULLS</b>

**Lot Detail Information**

---

Sequence #:	<b>37</b>	Lot #:	<b>40</b>
Pen #:	<b>E27Y</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>785</b>
Color:		Total Weight:	<b>2354</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>38</b>	Lot #:	<b>41</b>
Pen #:	<b>205Z</b>	Consignor:	
Head:	<b>27</b>	Average Weight:	<b>742</b>
Color:		Total Weight:	<b>20033</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>39</b>	Lot #:	<b>42</b>
Pen #:	<b>E13Y</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>639</b>
Color:		Total Weight:	<b>6394</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>40</b>	Lot #:	<b>43</b>
Pen #:	<b>208X</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>591</b>
Color:		Total Weight:	<b>2363</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>41</b>	Lot #:	<b>44</b>
Pen #:	<b>E19Y</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>561</b>
Color:		Total Weight:	<b>9542</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>42</b>	Lot #:	<b>45</b>
Pen #:	<b>E38Z</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>9556</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>43</b>	Lot #:	<b>46</b>
Pen #:	<b>207C</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>473</b>
Color:		Total Weight:	<b>1419</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>44</b>	Lot #:	<b>47</b>
Pen #:	<b>205L</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>462</b>
Color:		Total Weight:	<b>3232</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>45</b>	Lot #:	<b>48</b>
-------------	-----------	--------	-----------

Pen #:	<b>E20H</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>972</b>
Color:		Total Weight:	<b>972</b>
Sex:	<b>STRS</b>	Breed:	<b>HEREFORD</b>

#### **Lot Detail Information**

---

Sequence #:	<b>46</b>	Lot #:	<b>49</b>
Pen #:	<b>E22H</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>805</b>
Color:		Total Weight:	<b>805</b>
Sex:	<b>STRS</b>	Breed:	<b>HEREFORD</b>

#### **Lot Detail Information**

---

Sequence #:	<b>47</b>	Lot #:	<b>50</b>
Pen #:	<b>143L</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>759</b>
Color:		Total Weight:	<b>759</b>
Sex:	<b>STRS</b>	Breed:	<b>LATE CUT</b>

#### **Lot Detail Information**

---

Sequence #:	<b>48</b>	Lot #:	<b>51</b>
Pen #:	<b>200L</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>296</b>
Color:		Total Weight:	<b>592</b>
Sex:	<b>STRS</b>	Breed:	<b>LITTLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>49</b>	Lot #:	<b>52</b>
Pen #:	<b>143O</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>526</b>
Color:		Total Weight:	<b>526</b>
Sex:	<b>STRS</b>	Breed:	<b>LONGHORN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>50</b>	Lot #:	<b>53</b>
Pen #:	<b>E31M</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>831</b>
Color:		Total Weight:	<b>3323</b>
Sex:	<b>STRS</b>	Breed:	<b>MAINE-ANGOU</b>

#### **Lot Detail Information**

---

Sequence #:	<b>51</b>	Lot #:	<b>54</b>
Pen #:	<b>E26M</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>694</b>
Color:		Total Weight:	<b>4161</b>
Sex:	<b>STRS</b>	Breed:	<b>MAINE-AUOJU</b>

#### **Lot Detail Information**

---

Sequence #:	<b>52</b>	Lot #:	<b>55</b>
Pen #:	<b>E11R</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>627</b>
Color:		Total Weight:	<b>3133</b>

Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>
------	-------------	--------	------------------

**Lot Detail Information**

Sequence #:	<b>53</b>	Lot #:	<b>56</b>
Pen #:	<b>E17R</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>5620</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

Sequence #:	<b>54</b>	Lot #:	<b>57</b>
Pen #:	<b>E36R</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>487</b>
Color:		Total Weight:	<b>1949</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

Sequence #:	<b>55</b>	Lot #:	<b>58</b>
Pen #:	<b>E15X</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>1075</b>
Color:		Total Weight:	<b>4300</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>56</b>	Lot #:	<b>59</b>
Pen #:	<b>E38X</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>951</b>
Color:		Total Weight:	<b>9509</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>57</b>	Lot #:	<b>60</b>
Pen #:	<b>E34X</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>865</b>
Color:		Total Weight:	<b>6055</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>58</b>	Lot #:	<b>61</b>
Pen #:	<b>E29X</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>802</b>
Color:		Total Weight:	<b>2406</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>59</b>	Lot #:	<b>62</b>
Pen #:	<b>E30X</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>701</b>
Color:		Total Weight:	<b>2805</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>60</b>	Lot #:	<b>63</b>
Pen #:	<b>E12X</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>649</b>
Color:		Total Weight:	<b>3896</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### **Lot Detail Information**

---

Sequence #:	<b>61</b>	Lot #:	<b>64</b>
Pen #:	<b>E28X</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>548</b>
Color:		Total Weight:	<b>2739</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### **Lot Detail Information**

---

Sequence #:	<b>62</b>	Lot #:	<b>65</b>
Pen #:	<b>E26X</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>502</b>
Color:		Total Weight:	<b>1003</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### **Lot Detail Information**

---

Sequence #:	<b>63</b>	Lot #:	<b>74</b>
Pen #:	<b>E36S</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>645</b>
Color:		Total Weight:	<b>645</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

#### **Lot Detail Information**

---

Sequence #:	<b>64</b>	Lot #:	<b>75</b>
Pen #:	<b>E17S</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>589</b>
Color:		Total Weight:	<b>589</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

#### **Lot Detail Information**

---

Sequence #:	<b>65</b>	Lot #:	<b>76</b>
Pen #:	<b>E20S</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>361</b>
Color:		Total Weight:	<b>361</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

#### **Lot Detail Information**

---

Sequence #:	<b>66</b>	Lot #:	<b>77</b>
Pen #:	<b>404R</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1218</b>
Color:		Total Weight:	<b>1218</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

#### **Lot Detail Information**

---

Sequence #:	<b>67</b>	Lot #:	<b>78</b>
Pen #:	<b>304Y</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1144</b>

Color:		Total Weight:	<b>1144</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>68</b>	Lot #:	<b>79</b>
Pen #:	<b>W60Z</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1121</b>
Color:		Total Weight:	<b>1121</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>69</b>	Lot #:	<b>80</b>
Pen #:	<b>203B</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>1013</b>
Color:		Total Weight:	<b>3039</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING BULLS</b>

**Lot Detail Information**

---

Sequence #:	<b>70</b>	Lot #:	<b>81</b>
Pen #:	<b>202S</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>1242</b>
Color:		Total Weight:	<b>11174</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING BULLS</b>

**Lot Detail Information**

---

Sequence #:	<b>71</b>	Lot #:	<b>82</b>
Pen #:	<b>508C</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>962</b>
Color:		Total Weight:	<b>962</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>72</b>	Lot #:	<b>83</b>
Pen #:	<b>506F</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>899</b>
Color:		Total Weight:	<b>899</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>73</b>	Lot #:	<b>84</b>
Pen #:	<b>133J</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>768</b>
Color:		Total Weight:	<b>2303</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>74</b>	Lot #:	<b>85</b>
Pen #:	<b>507B</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>779</b>
Color:		Total Weight:	<b>4674</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>75</b>	Lot #:	<b>86</b>
Pen #:	<b>505B</b>	Consignor:	
Head:	<b>18</b>	Average Weight:	<b>713</b>
Color:		Total Weight:	<b>12831</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>76</b>	Lot #:	<b>87</b>
Pen #:	<b>503B</b>	Consignor:	
Head:	<b>13</b>	Average Weight:	<b>646</b>
Color:		Total Weight:	<b>8398</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>77</b>	Lot #:	<b>88</b>
Pen #:	<b>501B</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>561</b>
Color:		Total Weight:	<b>3366</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>78</b>	Lot #:	<b>89</b>
Pen #:	<b>509B</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>484</b>
Color:		Total Weight:	<b>2904</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>79</b>	Lot #:	<b>90</b>
Pen #:	<b>W53B</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>389</b>
Color:		Total Weight:	<b>389</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>80</b>	Lot #:	<b>91</b>
Pen #:	<b>500B</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>878</b>
Color:		Total Weight:	<b>6146</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLKS/RDS</b>

**Lot Detail Information**

---

Sequence #:	<b>81</b>	Lot #:	<b>92</b>
Pen #:	<b>W71B</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>717</b>
Color:		Total Weight:	<b>717</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>82</b>	Lot #:	<b>93</b>
-------------	-----------	--------	-----------

Pen #:	<b>W67B</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>756</b>
Color:		Total Weight:	<b>756</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>83</b>	Lot #:	<b>94</b>
Pen #:	<b>W59J</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>761</b>
Color:		Total Weight:	<b>2284</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>84</b>	Lot #:	<b>95</b>
Pen #:	<b>W67</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>931</b>
Color:		Total Weight:	<b>2794</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>85</b>	Lot #:	<b>96</b>
Pen #:	<b>302T</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>858</b>
Color:		Total Weight:	<b>6003</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>86</b>	Lot #:	<b>97</b>
Pen #:	<b>300T</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>792</b>
Color:		Total Weight:	<b>5542</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>87</b>	Lot #:	<b>98</b>
Pen #:	<b>W57T</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>712</b>
Color:		Total Weight:	<b>6407</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>88</b>	Lot #:	<b>99</b>
Pen #:	<b>507T</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>662</b>
Color:		Total Weight:	<b>2646</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>89</b>	Lot #:	<b>100</b>
Pen #:	<b>W55T</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>554</b>
Color:		Total Weight:	<b>2770</b>

Sex: **HFRS** Breed: **BUCKSKIN**

**Lot Detail Information**

Sequence #:	<b>90</b>	Lot #:	<b>101</b>
Pen #:	<b>W53W</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>495</b>
Color:		Total Weight:	<b>2474</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>91</b>	Lot #:	<b>102</b>
Pen #:	<b>W68C</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>745</b>
Color:		Total Weight:	<b>2236</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>92</b>	Lot #:	<b>103</b>
Pen #:	<b>301C</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>696</b>
Color:		Total Weight:	<b>4870</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>93</b>	Lot #:	<b>104</b>
Pen #:	<b>403C</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>642</b>
Color:		Total Weight:	<b>2567</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>94</b>	Lot #:	<b>105</b>
Pen #:	<b>504C</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>4494</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>95</b>	Lot #:	<b>106</b>
Pen #:	<b>500C</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>503</b>
Color:		Total Weight:	<b>1509</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>96</b>	Lot #:	<b>107</b>
Pen #:	<b>W67C</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>432</b>
Color:		Total Weight:	<b>864</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>97</b>	Lot #:	<b>108</b>
Pen #:	<b>404U</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>776</b>
Color:		Total Weight:	<b>3106</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

#### **Lot Detail Information**

---

Sequence #:	<b>98</b>	Lot #:	<b>109</b>
Pen #:	<b>400U</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>653</b>
Color:		Total Weight:	<b>1960</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

#### **Lot Detail Information**

---

Sequence #:	<b>99</b>	Lot #:	<b>110</b>
Pen #:	<b>409Y</b>	Consignor:	
Head:	<b>13</b>	Average Weight:	<b>785</b>
Color:		Total Weight:	<b>10201</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

#### **Lot Detail Information**

---

Sequence #:	<b>100</b>	Lot #:	<b>111</b>
Pen #:	<b>405Y</b>	Consignor:	
Head:	<b>15</b>	Average Weight:	<b>702</b>
Color:		Total Weight:	<b>10534</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

#### **Lot Detail Information**

---

Sequence #:	<b>101</b>	Lot #:	<b>112</b>
Pen #:	<b>406Y</b>	Consignor:	
Head:	<b>22</b>	Average Weight:	<b>638</b>
Color:		Total Weight:	<b>14028</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

#### **Lot Detail Information**

---

Sequence #:	<b>102</b>	Lot #:	<b>113</b>
Pen #:	<b>W70E</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>623</b>
Color:		Total Weight:	<b>1246</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

#### **Lot Detail Information**

---

Sequence #:	<b>103</b>	Lot #:	<b>114</b>
Pen #:	<b>402Y</b>	Consignor:	
Head:	<b>22</b>	Average Weight:	<b>572</b>
Color:		Total Weight:	<b>12579</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

#### **Lot Detail Information**

---

Sequence #:	<b>104</b>	Lot #:	<b>115</b>
Pen #:	<b>407Y</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>489</b>

Color:		Total Weight:	<b>5873</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>105</b>	Lot #:	<b>116</b>
Pen #:	<b>502E</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>479</b>
Color:		Total Weight:	<b>1917</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>106</b>	Lot #:	<b>117</b>
Pen #:	<b>403H</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>826</b>
Color:		Total Weight:	<b>4128</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>107</b>	Lot #:	<b>118</b>
Pen #:	<b>W68H</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>634</b>
Color:		Total Weight:	<b>2538</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>108</b>	Lot #:	<b>119</b>
Pen #:	<b>W51H</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>517</b>
Color:		Total Weight:	<b>6205</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>109</b>	Lot #:	<b>120</b>
Pen #:	<b>W72H</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>426</b>
Color:		Total Weight:	<b>2131</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>110</b>	Lot #:	<b>121</b>
Pen #:	<b>W59H</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>298</b>
Color:		Total Weight:	<b>1192</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>111</b>	Lot #:	<b>122</b>
Pen #:	<b>W72L</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>246</b>
Color:		Total Weight:	<b>246</b>
Sex:	<b>HFRS</b>	Breed:	<b>LITTLE</b>

**Lot Detail Information**

Sequence #:	<b>112</b>	Lot #:	<b>123</b>
Pen #:	<b>W58P</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>333</b>
Color:		Total Weight:	<b>333</b>
Sex:	<b>HFRS</b>	Breed:	<b>PEE WEE</b>

**Lot Detail Information**

Sequence #:	<b>113</b>	Lot #:	<b>124</b>
Pen #:	<b>W69R</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>804</b>
Color:		Total Weight:	<b>4823</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

Sequence #:	<b>114</b>	Lot #:	<b>125</b>
Pen #:	<b>W61R</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>635</b>
Color:		Total Weight:	<b>5714</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

Sequence #:	<b>115</b>	Lot #:	<b>126</b>
Pen #:	<b>301R</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>7873</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

Sequence #:	<b>116</b>	Lot #:	<b>127</b>
Pen #:	<b>W64R</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>488</b>
Color:		Total Weight:	<b>1951</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

Sequence #:	<b>117</b>	Lot #:	<b>128</b>
Pen #:	<b>W65X</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>992</b>
Color:		Total Weight:	<b>1983</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>118</b>	Lot #:	<b>129</b>
Pen #:	<b>307X</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>776</b>
Color:		Total Weight:	<b>3882</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>119</b>	Lot #:	<b>130</b>
-------------	------------	--------	------------

Pen #:	<b>306X</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>708</b>
Color:		Total Weight:	<b>8496</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>120</b>	Lot #:	<b>131</b>
Pen #:	<b>304X</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>646</b>
Color:		Total Weight:	<b>4522</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>121</b>	Lot #:	<b>132</b>
Pen #:	<b>302X</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>558</b>
Color:		Total Weight:	<b>2792</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>122</b>	Lot #:	<b>140</b>
Pen #:	<b>W72S</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>681</b>
Color:		Total Weight:	<b>681</b>
Sex:	<b>HFRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

---

Sequence #:	<b>123</b>	Lot #:	<b>141</b>
Pen #:	<b>E14E</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>1490</b>
Color:		Total Weight:	<b>2979</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>124</b>	Lot #:	<b>142</b>
Pen #:	<b>E32E</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1289</b>
Color:		Total Weight:	<b>1289</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>125</b>	Lot #:	<b>143</b>
Pen #:	<b>E13E</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>1047</b>
Color:		Total Weight:	<b>3140</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>126</b>	Lot #:	<b>144</b>
Pen #:	<b>E18T</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>1052</b>
Color:		Total Weight:	<b>4208</b>

Sex: **HFRS** Breed: **YEARLING**

**Lot Detail Information**

---

Sequence #:	<b>127</b>	Lot #:	<b>145</b>
Pen #:	<b>E28Z</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>978</b>
Color:		Total Weight:	<b>1956</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>128</b>	Lot #:	<b>146</b>
Pen #:	<b>207W</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>893</b>
Color:		Total Weight:	<b>893</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>129</b>	Lot #:	<b>147</b>
Pen #:	<b>E29L</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>890</b>
Color:		Total Weight:	<b>890</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>130</b>	Lot #:	<b>148</b>
Pen #:	<b>E31K</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>672</b>
Color:		Total Weight:	<b>672</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>